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Exercise 2.3
Question 1:

Find:
! 1 3 4
i — of aj — b) = c) —
£} R () 7 (b) 2 (9 3
1 2 6 3
11 = Of a)] — b = c) —
(- @) 5 () 2 ©
€. Answer 1:
| | I 1 Ix1 1
i a — iof — = —x—= =—
® B T T8
) Sefs=laceitt
4 5 4 4 4x4 16
[ Larteiyd DA -
4 3 4 3 4x3 3
M (@ Lofi=li2-1x2_2
7 9 7 9 7x9 63
b  Lofl=l,0-lilen
T 9 T 5418535
(c) 2 ng =lxi= s _ o
7 9 7 10 7x10 70
Question 2:
Multiply and reduce to lowest form (if possible):
2 A2 D 7 3 6
i —%x2— ii —X— iii —X— iv —x
() M (ii) e (k)L = (iv)
1 15 . 13 4 12
v == V1 —X— vii —X—
o 3 8 () 2 10 (viD) 5 7
€. Answer 2:
B 2xp2-2,5 28 16,7
3 3 33 3x3 9 9
o 2 7 2%7T 2
(ii) Zx—= s =
79 7x9 9
3 6 3x6 3x3 9
(iii) =x—=—o pi
8 4 8x4 8x2 16
py G2 PO 2 3
5 5 5x5 25 25
1 15 _Ix15 _1x5 5
(V) —=x—= ==
378 3x8 Ix8 8
. ll 3 _11x3 33 .3
() —%—

2 10 2x10 20 20

y 4 12 4x12 48 13
(vi) —x—= =1-=
5 7 5x7 35 35
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Question 3:
Multiply the following fractions:
2 _1 - 2 7 . 3 .1 . 5 .3
i —x5— ii 6—x— iii —x5— iv —x2=
g 5 4 (i) 59 (i) 2 3 () 6 7
2 4 3 4 3
\ 3=x— vi 2=x3 vii) 3—x=
v) T (vi) (vii) o
€. Answer 3:
2
0 :Xsl:g 21 _ 2x21:1x212£:2i
5 4 5 4 5x4 5x2 10 10
(ii) 6gxz=2xz 32x7 _224 4-44
59 59 5x9 45 45
(i) Susiaiul _38_
2 3 2 3 6
(iv) §x2§:§x1—7=§=2i
6 7 6 7 42 42
W 34174 68 3
57 7 7 35 35
o) 253233 153 B 14 (043 253 56315 )1
5515x155 T8 75 71 7T 7
Question 4:
Which is greater: (i]E ofg orgofg (ii)lofg orgofg
7 4 5 8 2 7 3 7
€. Answer 4:
(i) zofgorgofE
7 4 5 8
2 3 3 5 3 3 3 3
=% —X=—o0r—x- = — or = = —<=
7 4 5 8 14 8 14 8
Thus, E of g is greater
(ii) lofﬁ or2 ofE
2 7 3 7
1 6 2 3 3 2 3 2
= —X—0r — X — = = or — == > =
2 7 3 7 7 7 7 7
1

Thus, — of o is greater.
2 7

Question 5:
Saili plants 4 saplings in a row in her garden. The distance between two adjacent saplings

is % m. Find the distance between the first and the last sapling.

£, Answer 5:

The distance between two adjacent saplings = % m
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Saili planted 4 saplings in a row, i ki
then number of gap in saplings = 3 r v—e—n
-
Therefore, i
The distance between the first and the last saplings = 3x% = % m= 2% m

Thus the distance between the first and the last saplings is 2& m.

Question 6:
Lipika reads a book for 1% hours everyday. She reads the entire book in 6 days. How many

hours in all were required by her to read the book?
€. Answer 6:

Time taken by Lipika to read a book = l% hours.

She reads entire book in 6 days.

Now, hours taken by her to read the entire book = I%x 6= %xf) = s = 10%

2
Thus, 10 hours were required by her to read the book.
Question 7:
A car runs 16 km using 1 litre of petrol. How much distance will it cover using 2% litres of

petrol?
€. Answer 7:
In 1 litre of pertrol, car covers the distance = 16 km

In 2% litres of petrol, car covers the distance = 2% of 16 km = %x 16 =44 km

Thus, the car will cover 44 km distance.

Question 8:

(a) (i) Provide the number in the box |:| such that %xD = %
(ii) The simplest form of the number obtained in |:| is
(b) (i) Provide the number in the box D, such that gx[] = %
(ii) The simplest form of the number obtained in |:| is
€. Answer 8:
2 |5] 10 5 1
a) (i) =x|—|=— ii The simplest form of — is —.
(@) @ 3 M 5 (ii) p Tt
3 |18 24 8 8
b) (i) =x|—|==— ii The simplest form of — is —.
IO 53577 (i) P 1515
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